To derive the LES for gord puis ACX, well first  
need to understand the relative homology groups  

$$H_{k}(X,A).$$

$$\underline{Def}: \text{ For any spaces } ACX, C_{v}(X,A) \text{ is the chain}$$

$$C_{n}(X,A) := \frac{C_{n}X}{C_{n}A}$$

$$\frac{V}{bhy} \text{ map induced by}$$
the universal prop. of  
the quotient map
$$C_{n}X \rightarrow C_{n}X/C_{n}A: \qquad \int_{C_{n}X} \int_{C_{n}A} C_{n-1}X$$

$$\frac{U}{C_{n}X} \xrightarrow{\partial_{rel}} \int_{C_{n-1}X} \int_{C_{n-1}A} C_{n-1}X$$

$$\frac{U}{C_{n}X} \xrightarrow{\partial_{rel}} \int_{C_{n-1}A} C_{n-1}X$$

$$\frac{U}{C_{n}X} \xrightarrow{\partial_{rel}} \int_{C_{n-1}A} C_{n-1}X$$

$$\frac{U}{C_{n}X} \xrightarrow{\partial_{rel}} \int_{C_{n-1}A} C_{n-1}X = 0$$

$$\frac{Note}{\partial_{rel}} \xrightarrow{\partial_{rel}} D_{c} \int_{c_{n-1}X} ([X]+C_{n}A) = \partial_{rel} ([D_{n}X]+C_{n-1}A)$$

$$= [D^{2}X] + C_{n-1}A = 0$$

$$\frac{More generally}{(D_{n}X)} = TF(C_{n}A_{n}) \xrightarrow{\partial_{rel}} (D_{n}A_{n}) \text{ is an inclusion}$$

of chain cplxs, i.e. Lisachain map & Cn Dn is 1-1 Vn, then Dn/c is a chain cplx W/ differential induced by Dc as above. <u>Note</u>: The quotient maps Dn <sup>2</sup> Dn/cn define a chain map.

Moreover, a chain map 
$$D \xrightarrow{f} D' u = H_n(D/c) \xrightarrow{d} H_{n-1}(C) \xrightarrow{i_*} \dots$$
  
 $Moreover, a chain map  $D \xrightarrow{f} D' u = F(C = C') = h_{n-1}(C) \xrightarrow{i_*} \dots$   
 $Moreover, a chain map  $D \xrightarrow{f} D' u = F(C = C') = h_{n-1}(C)$   
 $Moreover, a chain map  $D \xrightarrow{f} D' u = F(C = C') = h_{n-1}(C)$$$$ 

Excision:  
Thm: Say Z < A < X and Z < int(A). Then 
$$(X-2, A-2) \rightarrow (X, A)$$
  
induces ison's  $H_{\bullet}(X-2, A-2) \xrightarrow{=} H_{\bullet}(X, A)$  for all n 20  
Equivalently: If X = A ∪ B, where int(A) ∪ int(B) = X, then  
 $H_{\bullet}(B, A \cap B) \xrightarrow{=} H_{\bullet}(X, A)$   
For all 20. [See B = X-2 or Z = X-B to go but the versions]  
Application: (Brouwer, 1910)  
Thm: If U < R<sup>n</sup> & V < R<sup>m</sup> ere homeomorphis, then n=m.  
Pt: Stady the local homeony grow  $H_{\downarrow}(U, U - \{X\})$  for pto X < U  
(and similarly for pto y < U).  
WL can apply excision to the pair (R<sup>n</sup>, R<sup>n</sup> - {X}),  
WL 2 = U<sup>c</sup>, note that R<sup>n</sup> - U = R<sup>n</sup> - U < R<sup>n</sup> - {X}. We find:  
 $H_{\downarrow}(R^n, R^n - x) = H_{\downarrow}(U, U - x).$   
Now the LES for (R<sup>n</sup>, R<sup>n</sup> - x) given  
 $D = H_{\downarrow}R^n \rightarrow H_{\downarrow}(R^n, R^n - x) \xrightarrow{=} H_{\downarrow_{J-1}}(R^n - x) \rightarrow H_{\downarrow_{J-1}}R^n = 0$   
So d is an item.  
 $H_{\downarrow}(R^n, R^n - x) \xrightarrow{=} H_{\downarrow}(R^n - x) \xrightarrow{=} H_{\downarrow_{J-1}}(R^n - x) \xrightarrow{=} H_{\downarrow_{J-1}}(R^n - x)$ 

Now, a homeon 
$$f:U \cong V$$
 would induce a homeon.  
 $U-x \cong V-f(x)$   
and hence an isom.  $H_{k}(U, U-x) \cong H_{k}(V, V-x)$   
From our computation of these goo, we see  
that  $n=m$  (since n is the only non-zero dim'n where  
 $H_{k}(U, V-x) \neq 0$ , and m is the only non-zero dim'n where  
 $H_{k}(V, V-x) \neq 0$ .  $\Box$ 

In fact, to χ is onto so long as β & Sare outor & ε is 1-1, and γ is 1-1 so long as β & Sare 1-1 and α is onto. <u>Pf</u>: By a "diagram Chape". See Wikipedia. <u>Ex</u>: If (X,A)→(Y,B) is a map of pairs & X→Y, A→Bare htpy equiv.'s, then H<sub>n</sub>(X,A)→H<sub>n</sub>(Y,B) is an isom ∀n. Indeed, we have a comm diagram H<sub>n</sub>A→H<sub>n</sub>X→H<sub>n</sub>(X,A)→H<sub>n-1</sub>A→H<sub>n-1</sub>X H<sub>n</sub>B→H<sub>n</sub>Y→H<sub>n</sub>(Y,B)→H<sub>n-1</sub>A→H<sub>n-1</sub>X H<sub>n</sub>B→H<sub>n</sub>Y→H<sub>n</sub>(Y,B)→H<sub>n-1</sub>A→H<sub>n-1</sub>X

Proof of Excision:

Def:  $C_n(A+B) = C_n(X)$  is the subsp gend by  $C_n(A) \& C_n(B)$ Note that  $C_n(A+B)$  is a sub-chain cpt of  $C_n(X)$ , b/c I maps  $C_n(A) \& C_n(B)$  into themselves. Similarly, we can define  $C_n(A+B, A) = C_n(A+B)/C_n(A)$ . This gives a sub-chain gpt of  $C_n(X, A)$ . In Fact,  $(A) C_n(B, A \cap B) \xrightarrow{\cong} C_n(A+B, A)$ b/c both are free abelian w/ basis  $\{\sigma: A^n \rightarrow B: I_n(\sigma) \notin A\}$ . The proof of excision is based on the following lemma: Lemma: If  $X = A \cup B$  as above, then  $C_n(A+B,A) \longrightarrow C_n(X,A)$ induces an ison. on hondogy.  $Excision follows b/c (A) \implies H_n(BA \cap B) \cong H_n(A+B,A)$ . (Note that (A) is a chain map, since it's induced by the induction  $Cnb \hookrightarrow C_n(A+B)$ . Prop2.1 in thatcher is a more general Version of the Lemma, with X=A \cup B replaced by  $X = \bigcup_{i \in I} (i \cap H_i) = X$ .

The basic idea behind the Lemma is that any chain Exioi in Cn(X) an be "cat up", or subdivided, into pieces that lie entirely in A or B: ß Each red simplex lies entirely on one sile of the decomposition. Х ß F 2 in half (subdivide) why is the resulting cycle  $\mathcal{R}^{:}$ e, e cycle Z en in Z1(X) 0. in the same homology class? Compare e, & its subdivision: orientation rule: all edger point away from barycenter b Xo XI Xo b o is the map  $\Lambda \longrightarrow X$ (More for malle "Cone off" e, e. M - X & o M- M'EsX to create a triangle b(e,)=o: X. where  $\Lambda^2 \longrightarrow \Lambda^1$  is the map  $V_0 \longmapsto Y_2 V_0 + Y_2 V_1$ Now  $\partial \sigma = [X_{0}, X_{1}] - [b, x_{1}] + [b, x_{0}]$ & we extend linency.) So  $e_{i}=[x_{0},x_{i}] \equiv [b_{1}x_{1}] - [b_{1}x_{2}] \pmod{B_{1}(x)}$ Subdividing each edge of our loop gives a cycle in C, (A+B) that is "humdogous" to e, + e2+e3+e4 (i.e. represents the same class in H,X).

PF of Lemma: We'll start by defining a Chain map S: C, X -> C, X sending o to its "subdivision", and wall Construct a chain htpy T: CX -> C++1 X with Z-bI = T(+ (T (so T is a htpy blu S & Id). S is defined inductively using the cone operators  $C_{\mathbf{k}}: \mathcal{L}_{\mathbf{k}} \wedge^{\mathbf{n}} \rightarrow \mathcal{L}_{\mathbf{k}+1} \wedge^{\mathbf{n}}$  $\sigma: \mathcal{A}^{k} \to \mathcal{A}^{n} \to \mathcal{C}_{h}(\sigma)$ where be the is any pt, and cb (o): A is defined Ьу  $C_{b}(\sigma)\left(\sum_{i=1}^{k+1}\lambda_{i}e_{i}\right) = \lambda_{o}b + \overline{\lambda} \sigma\left(\sum_{i=1}^{k+1}\left(\frac{\lambda_{i}}{\overline{\lambda}}\right)e_{i}\right)$ where  $\overline{\lambda} = \overline{\Sigma} \lambda_i$ . Note: For leight,  $O = \frac{\lambda_i}{\overline{\lambda}} \leq 1$  and  $\sum_{i=1}^{k+1} \frac{\lambda_i}{\overline{\lambda}} = \frac{\overline{\lambda}}{\overline{\lambda}} = 1$ , so  $\sum_{i=1}^{k+1} (\frac{\lambda_i}{\overline{\lambda}}) e_i \in \Lambda^{k+1}$ and moreover, we see that  $\lambda_{b} + \overline{\lambda} \sigma(\sum_{i=1}^{e} (\frac{\lambda_{i}}{\overline{\lambda}}) e_{i}) \in \Delta^{n}$ b/c  $\lambda_{a} + \overline{\lambda} = 1$ Picture:

Def: 
$$S^{\Delta}: C_{k} \Delta^{n} \longrightarrow C_{k} \Delta^{n}$$
 is defined inductively:  
. For k=0,  $S^{\Delta}(\sigma) = \sigma$   
. For k>0,  
 $S^{\Delta}(\sigma) = C_{k(\sigma)} (S^{\Delta}(\partial \sigma))$ , where  $b(\sigma) = \sigma(\frac{1}{n+1}, \frac{1}{n+1})$ .  
Ex: k=1  $x_{\sigma} \xrightarrow{x_{1}} x_{\sigma} \xrightarrow{x_{2}} x_{\sigma} \xrightarrow{x_{1}} \cdots \xrightarrow{x_{n}} x_{n} \xrightarrow{x_{n}}$ 

Subclaim 1:  $\partial C_{L} + C_{L} \partial = Id$ Subclaim 2:  $S^{\Delta}$  is a chain map.

Finally we prove the claim 
$$(\Im \leq = \leq \Im)$$
:  
 $\sigma_{\#}$  is a chain map  
 $\Im \leq (\sigma) = \Im \sigma_{\#} \leq \Delta (\mathrm{Id}_{D^n}) \stackrel{\downarrow}{=} \sigma_{\#} (\Im \leq \Delta^{\Delta} (\mathrm{Id}_{D^n}))$   
 $\leq c_{\#}$   
 $\stackrel{\downarrow}{=} \sigma_{\#} ( \leq \Delta^{\Delta} (\Im \otimes \mathrm{Id}_{D^n})) = \sigma_{\#} ( \leq \Delta^{\Delta} (\sum_{i=0}^{n} (-1)^{i} \leq i))$   
 $= \sum_{i=0}^{\infty} (-1)^{i} \sigma_{\#} \leq \Delta^{\Delta} (\leq i)$ 

-he other hand,  

$$S = S(\Im \sigma) = S(\Im \sigma) = S(\sum_{i=0}^{n} (1)^{i} \sigma \cdot s^{i}) = \sum_{i=0}^{n} (1)^{i} S(\sigma \cdot s^{i})$$

$$= \sum_{i=0}^{n} (-1)^{i} (\sigma \cdot s^{i})_{\#} (S^{n} (\operatorname{Td}_{\Delta^{n-1}}))$$

$$= \sum_{i=0}^{n} (-1)^{i} \sigma_{\#} \cdot (S^{i})_{\#} (S^{n} (\operatorname{Td}_{\Delta^{n-1}}))$$

So it suffices to check that  $\begin{array}{l} \left( S^{i} \right)_{\sharp} S^{\Delta} (\operatorname{Id}_{\Delta^{m_{i}}}) = S^{\Delta} (S^{i}) \\
\overline{F}_{\mathrm{act}} : \mathcal{T}_{\sharp} S^{\Delta} (\eta) = S^{\Delta} (\mathcal{T}_{\mathrm{om}}) \text{ for all } \eta : \Delta^{h} \rightarrow \Delta^{n-1} \\
\text{and all linear maps } \mathcal{T} : \Delta^{n-1} \rightarrow \Delta^{n} \quad (\text{that is, } \mathcal{T} (\Xi \lambda_{i} e_{i}) \\
= \Sigma \lambda_{i} \mathcal{T}(e_{i})) \\
\end{array}$ To prove this, we need a similar observation about the cone operator  $C_{b}$ :  $\begin{array}{l} \underline{Exercise:} \ \mathcal{T}_{\sharp} \ C_{b} (\mathcal{V}) = C_{\mathcal{T}}(b) \ (\mathcal{T}_{\sharp} \mathcal{V}) \ \text{so long as } \mathcal{T} \\
& \text{ is lineav.} \\
\end{array}$ 

<u>PF of Fact</u>: For dim(y) = 0, this is immediate from the defins. We proceed by induction. Assuming the statement in dimin n-1, if dimy=n we have 50, - ( # are maps  $\stackrel{\vee}{=} C_{\mathcal{T}(|\mathbf{b}|\mathcal{N})} \left( \sum_{i=1}^{n} (-1)^{i} \mathcal{T}_{\#} S^{\Delta}(\mathcal{N} \circ S^{i}) \right)$ Induction Hypothesis) =  $C_{\tau(b(\eta))} \left( \sum_{i=0}^{n} (-1)^{i} \leq \Delta(\tau \circ \eta \circ s^{i}) \right)$ By linearity of Z,  $\gamma(b(\eta)) = \gamma(\frac{2}{1+n} \frac{1}{n+1} \eta(e_i)) = \sum_{i=1}^{n} \frac{1}{n+1} \tau_0 \eta(e_i) = b(\tau_0 \eta)$ So the above is just  $C_{b(\tau,\eta)}$  (S<sup>(3)</sup>( $\partial(\tau,\eta)$ )) as desired.  $\square$ This completes the proof that Sisachain map. Next we need. Claim: There is a chain htpy T: C, X-> CnuX satisfying 2T+T2=Id-S. Hatcher constructs Toon C. A First, by induction

and then extends via  $T(\sigma) = \sigma_{\#} T^{0}(Id_{n})$ , just like the construction of S. The inductive formula for  $T^{A}$  is  $T^{A}C_{0}d^{-}\sigma(A^{n})$  $T^{A}(\sigma) = C_{b}(\sigma) - C_{b}(T^{A}(\partial\sigma))$ . The details in the proof of this Claim are similar to what we did to understand  $\partial S$ , and are basically formal. (Details below.)

$$\frac{\operatorname{Pictures} \cdot T(i) = \operatorname{constant} |-\operatorname{simplex} U/ \operatorname{sume} \operatorname{image}_{O-\operatorname{simplex}}$$

$$\frac{\operatorname{Note} : \Im T(i) + T \Im = O = \cdots S(i)$$

$$T\left(\frac{1}{v_{i}+v_{i}}\right) = v_{i} \underbrace{\bigvee_{v_{i}+v_{i}}^{v_{i}+v_{i}+v_{i}+v_{i}}}_{V_{i}+v_{i}+$$

Proof of 
$$\Im T + T = Id = S$$
: First we check that  $\Im T^{\Delta} + T^{\Delta} = Id - S^{\Delta}$   
and then the general result follows formally.  
To prive  $\Im T^{\Delta} + T^{\Delta} = Id - S^{\Delta}$  on  $C_{A}^{M}$  we proved by induction on  $g$ .  
When  $\Lambda = 0$ , we have  $\Im T^{\Delta} \sigma^{*} + T^{\Delta} \Im \sigma^{*} = \Im (C_{In(\sigma^{*})}) + 0 = 0$   
and  $Id (\sigma^{*}) - S^{\Delta}(\sigma^{*}) = \sigma^{*} - \sigma^{*} = 0$  as well.  
Now assume the result for  $(n-i)$ -simpling and compute  $\Im T^{\Delta}\sigma^{*}$  for  $\sigma^{*}C_{A}S^{*}$ .  
 $\Im T^{\Delta}\sigma = \Im C_{b\sigma}(\sigma) - \Im C_{b\sigma}(T^{\Delta}\partial\sigma) = (\sigma - C_{b\sigma}(\Im)) - (T^{\Delta}\partial - C_{b\sigma}(\Im T^{\Delta}\partial\sigma))$   
 $\Im C_{b\sigma}^{*} = T - C_{b}(\Im T^{\Delta}) - C_{b\sigma}(\Im T^{\Delta}) = S^{\Delta}\sigma$ .  
(A)  $C_{b\sigma}(\Im T) - C_{b\sigma}(\Im T^{\Delta}\partial\sigma) = S^{\Delta}\sigma$ .  
So we compute  $\Im T^{\Delta}(\Im \sigma)$ :  
 $(A) C_{b\sigma}(\Im T) - C_{b\sigma}(\Im T^{\Delta}\partial\sigma) = S^{\Delta}\sigma$ .  
So we compute  $\Im T^{\Delta}(\Im \sigma)$ :  
 $(A) C_{b\sigma}(\Im T) - C_{b\sigma}(\Im T^{\Delta}\partial\sigma) = S^{\Delta}\sigma$ .  
So we compute  $\Im T^{\Delta}(\Im \sigma)$ :  
 $(A) C_{b\sigma}(\Im T) - C_{b\sigma}(\Im T^{\Delta}\partial\sigma) = S^{\Delta}\sigma$ .  
So (A) becomes  
 $C_{b\sigma}(\Im T) - S^{\Delta}\sigma = \Im \sigma - S^{\Delta}\sigma$ .  
For  $\sigma \in C_{\alpha}X$ , we have:  $\Im T \sigma + T \Im \sigma = \Im \sigma_{\pi} T^{\Delta}(Id_{A}) + T(\Im \sigma)$   
 $= \sigma_{\pi}\Im T^{\Delta}(Id_{A}n) + T(\Im \sigma)$   
 $= \sigma - S\sigma - \sigma_{\pi}T^{\Delta}(Id_{A}n) + T(\Im \sigma)$   
 $= \sigma - S\sigma - \sigma_{\pi}T^{\Delta}(Id_{A}n) + T(\Im \sigma)$ 

To complete the proof, we need to show that  

$$T(\partial \sigma) = \sigma_{\#} T^{\Delta} (\partial IJ_{\Delta n}).$$
We have:  

$$T(\partial \sigma) = \mathcal{Z}(-1)^{i} T (\sigma \cdot s^{i}) = \mathcal{Z}(-1)^{i} (\sigma \cdot s^{i})_{\#} T^{\Delta} (Id_{\Delta^{n-1}})$$

$$= \sigma_{\#} \left( \mathcal{Z}(-1)^{i} S^{i}_{\#} T^{\Delta} (IJ_{\Delta^{n-1}}) \right)$$
and  

$$\sigma_{\#} \left( T^{\Delta} (\partial IJ_{\Delta^{n}}) \right) = \sigma_{\#} \left( T^{\Delta} (\mathcal{Z}(-1)^{i} S^{i}) \right)$$

$$= \sigma_{\#} \left( \mathcal{Z}(-1)^{i} T^{\Delta} (s^{i}) \right)$$

So it suffices to show that if  $f: \Delta^m \to \Delta^k$  is <u>linear</u>, &  $\omega \in C_k(\Delta^m)$ , then  $f_{\#}(T^{\Delta}\omega) = T^{\Delta}(f \circ \omega)$ . [set  $f = S^i$ ,  $\omega = Id_{\Delta^{m-1}}$ ]

We prove this by induction on k, using the above exercise. For k=0, both sides are the constant (-simplex at the image of fix. Now assume the result for k-1.

$$f_{\#} T^{\Delta}(\omega) = f_{\#} \left( C_{b\omega}(\omega) - C_{b\omega}(T^{\Delta}(\partial \omega)) \right)$$

$$\stackrel{\text{By the Exercise}}{=} C_{f(b\omega)}(f\omega) - C_{f(b\omega)}(f_{\#}T^{\Delta}\partial \omega)$$

$$T^{\Delta}(f_{\sigma}\omega) = C_{b(f\omega)}(f\omega) - C_{bf\omega}(T^{\Delta}(\partial f\omega))$$

$$\text{Since f is linear, } f(b\omega) = b(f\omega). \text{ So it remains only to show}$$

$$f_{\#} T^{\Delta}(\partial \omega) = T^{\Delta}(\partial f\omega).$$

$$\stackrel{\text{We have:}}{=} f_{\#} T^{\Delta}(\partial \omega) = 2(-1)^{i} f_{\#} T^{\Delta}(\omega \circ \delta^{i}) = 2(-1)^{i} T^{\Delta}(f_{\sigma} \omega \circ \delta^{i})$$

$$= T^{\Delta}(\partial(f_{\sigma} \omega)) = T^{\Delta}(\partial f_{\sigma} \omega)$$

Now we can complet the proof of excision.  
We need to show that 
$$C_n(A+B,A) \rightarrow C_n(X,A)$$
  
induces an isom on homology. First we prove surjectivity  
Lemma: (Hatchen, p. 12D) Given  $z = \sum i \sigma_i \in C_n(X)$  w/  $\partial z \in C_n(A)$ ,  
 $S^m(z) \in c_n(A+B)$  for some  $m = m(z) > 0$ .  
Pf: (Sketch) For each  $i, \sigma_i^{-1}(A), \sigma_i^{-1}(B) \ge \Delta^n$ , and hence  $1 \le 0$  st. Lebesgue #4  
 $G_rad. \le (in \Delta^n)$  maps into either  $A = B$  under all  $\sigma_i$ . Now one checks inductively  
that the diameter of simplicer in the m<sup>th</sup> subdivision  $g = \Delta^n is \le (2n+1)^n$ , which is  $< \le 1$  for more  
Now it suffices to show that  $2(S^m(z)) \in C_{n-1}(A)$   
(so that  $S^m(z)$  is a cycle in  $C_n(A+B,A)$  and that  $z - S^m(z)$   
lies in  $B_n(X) + C_n(A)$  (so that  $z \ge S^m z$  give the same  
homology class in  $H_{k}(X,A) = \frac{f \ge c \cdot c_n X | \partial \ge c \cdot c_n A]}{B_n X + C_n A}$ .  
We have  $\partial S^m(z) = S^m(\partial z)$  (Lic  $\partial \le = S^n$ )  
and  $\partial \ge c_{n-1}A$ . From the defin of  $\le$  we see that  
 $S(C_*A) \le C_*A_f \le 0 \ge 3^m(z) e^{C_{n-1}A}$  as desired.  
 $Next, Z - S^m(z)$  is a bodry in  $C_*(A+B,A)$  bic

Can write

$$Z - S^{m} z = Z - SZ + (SZ - S^{2} z) + \dots + (S^{m-1} z - S^{m} z)$$
$$= \sum_{i=0}^{m-1} S^{i} (Z - Sz)$$

and  $2-S_2 = 2T_2 - T_{22} \in B_n X + C_n A$  b/L  $2z \in C_{n-1}A_{j}$ and  $S^i$  maps  $B_n X$  to  $B_n X$  (since S is a chain map) and maps  $C_n A$  to  $C_n A$ .

Finally, we show 
$$C_n(A+B,A) \rightarrow C_n(X,A)$$
 is injective  
on homology. Say  $Z \in C_n(A+B,A)$  and  $Z$  represents  
 $O \in H_n(X,A)$ . Then  $D_Z \in C_nA$  and  
 $Z \in B_nX + C_nA_1$  so we

can write  $Z = \partial w + \alpha$  with  $w \in C_{n+}(X)$ ,  $\alpha \in C_n(A)$ . We want to show that  $Z \in B_n(A+B) + C_n(A)$ , and it suffices to show that  $\partial w = Z - \alpha \in B_n(A+B)$ . Again, consider the telescoping sum

Where m is taken large enough that 
$$S^{m}(W) \in C_{n}(A+B)$$
.  
Now  
 $\partial W = \Im S^{m}W + \Im \begin{bmatrix} \sum_{i=0}^{n-1} S^{i}(W-Sw) \end{bmatrix} = \Im S^{m}W + \sum_{i=0}^{m-1} S^{i}(\Im(W-Sw))$   
in  $B_{n}(A+B)$   
So it will suffice to show that  $\Im(W-Sw) \in B_{n}(A+B)$ .  
We have  
 $\Im(W-Sw) = \Im(\Im TW + T\Im) = \Im T\Im w = \Im T(2-x)$   
Since  $2 \in C_{n}(A+B)$  &  $d \in C_{n}A$ ,  $2 - d \in C_{n}(A+B)$  and hence  
 $T(2-a) \in C_{n}A+B$  as well. So  
 $\Im(W-Sw) = \Im T(2-a) \in B_{n}(A+B)$ ,  
as desired. This completes the proof of excision.  $\Box$ 

To derive the M-U seq. for 
$$X = A \cup B(\omega) \operatorname{int}(A) \operatorname{vini}(B) = K$$
)  
We consider
$$A_{AB} \xrightarrow{i \to A} C^{A} \times C_{A}(A + B)$$

$$C_{A}(A + B) \xrightarrow{i \to B} C_{A}(A) \otimes C_{A}(B) \xrightarrow{i \to A} C_{A}(A + B)$$
The  $2^{nd}$  map is onto by define of  $C_{A}(A + B)$ , and the first is clearly  
injective. In fact, the seq. is exact bic  
 $i_{\mu}^{A} + i_{\mu}^{B}(i_{\mu\nu}\sigma_{I} - i_{\mu}\sigma) = i_{\mu}\sigma - i_{\mu}\sigma = 0$ .  
Now the LES in H. has the form
$$\longrightarrow H_{n}(A + B) \longrightarrow H_{n}(A) \otimes H_{n}B \longrightarrow H_{n}(A + B) \xrightarrow{i \to B} H_{n-1}(A + B) \xrightarrow{i \to B} H_{n}(A + B) \xrightarrow{i \to B} H_{n-1}(A + B) \xrightarrow{$$

ON Hoby Prop 2.21. The claim nour follows by applying the 5-lemma to the associated diagram of LES's in homology. I In fact, the MV seq. can also be formulated for reduced homology: just use the argumented chain cplxs

Cn Z  
for Z = A nB, A, B, (the homdory of this  
a cymented cplx is 
$$\tilde{H}_{*}(Z)$$
) and note that  
 $\Sigma_{n:X:} C_{0}Z$   
 $T_{1}Z$   
 $L_{2}$   
 $Z_{n:X:} C_{n}Z$   
 $L_{2}$   
 $C_{0}A+B=C_{0}X$  So we can arguent  $C_{*}(A+B)$   
 $\Sigma_{n:X:} C_{n}Z$   
in the same monner.

Note that we still have a SES of acynemical cplxs if the maps in deg -1 are  $\mathcal{I} \xrightarrow{\longrightarrow} \mathcal{I} \mathcal{O} \mathcal{I} \xrightarrow{\longrightarrow} \mathcal{I}$ .